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QUESTION 1

You created an outbound link which was accidentally rejected on the replica by a storage manager. Which two actions
should you take to correct the situation? (Choose two.) 

A. On the primary HCP, delete the rejected link. 

B. On the replica HCP, cancel the link rejection response. 

C. On the primary HCP, create a new outbound link. 

D. On the replica HCP, send a new link acceptance. 

Correct Answer: AC 

 

QUESTION 2

As tenant administrator for tenant deptA, you are asked to create a new account for deptA-user to access data in tenant
deptA. Which two actions would you choose? (Choose two.) 

A. Log into the System Management Console (https://admin.hcp-ma.example.com:8000). 

B. Log into the Tenant Management Console for tenant deptA (https://deptA.hcpma. example.com:8000). 

C. Create a data access account for the deptA-user. 

D. Create a system account for the deptA-user. 

Correct Answer: BC 

 

QUESTION 3

A customer has recently purchased a HCP 500. You will be performing the install. Which two describe how many LUNs
per node are required for installation? (Choose two.) 

A. 1 OS LUN 

B. 4 OS LUNs 

C. 2 data LUNs 

D. 4 data LUNs 

Correct Answer: AC 

 

QUESTION 4

In which two instances would the MEGARaid utility be used? (Choose two.) 
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A. when replacing multiple failed disks in a HCP 500 node 

B. when replacing multiple failed disks in a HCP 300 node 

C. when replacing an entire node in a HCP 300 in which the RAID group is not healthy 

D. when replacing an entire node in a HCP 500 in which the RAID group is not healthy 

Correct Answer: BC 

 

QUESTION 5

What are two instances when you would need to configure the BIOS on a HCP Node? (Choose two.) 

A. when replacing a failed motherboard in a node 

B. when adding more than 1 TB of capacity to the configuration 

C. when configuring the HCP for replication 

D. when replacing an entire node 

Correct Answer: AD 
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